

https://view.genially.com/67ae2ae0c74734d0b94bb710/interactive-content-cantabriaestalmat25

SEDE LA PALMA

(Santa Cruz de la SEDE LANZAROTE

Palma) )
SEDE TENERIFE (Arrecife) -
NORTE (La SEDE SANTA CRUZ

Laguna) DE TENERIFE
SEDE LA GOMERA (Santa Cruz de
(San Sebastian de \' Tenerife)

La Gomera)
SEDE GRAN SEDE LAS PALMAS

CANARIA NORTE DE GRAN CANARIA

(Arucas Ic_;as P(a)lmas de
SEDE EL HIERRO ran Canaria)

(Valverde)
SEDE
SEDE TENERIF FUE(EEEX(E%L&JRA
SUR (Granadilla) SEDE GRAN Roaario)
CANARIA SUR

(Vecindario)








https://genially.com/?from=watermark









https://www.youtube.com/watch?v=M3IJlnxRRuw






https://www.youtube.com/watch?v=_KTuGSs1nL4

X3 = 15x + 4 4°= 15%X4 + 4

X=V2+V—1214+32—V—121



V2+V—121=V2+11/—-1

a+bv—1



a=2 vy b=1

X=V24+V—121+V2 -V —121=2+V—1+2—V—1=4

x=4









https://www.youtube.com/watch?v=FBPeXFKKr28






























https://www.youtube.com/watch?v=kB1tnTgNtBc



https://youtu.be/hQdiya0T_uU?si=u9o0TdynFiro2H3x




